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I nstructions to the candidates:
All gquestions are compulsory.
Figures to the right indicate full marks.

1)
2)

01) A)

Fill in the blanks (Attempt any 5 out of 6): [S]

1)  The industries are heavily depends for raw material on
(Manpower, agriculture, training, Education)

i1)  Financial sector reforms was takeplace in in India.
(1995, 1974, 1968, 1991)

ii1) The agricultural credit in India mainly provided by
(Commercial-bank, Private banks, cooperative banks, foreign
banks)

iv). To develop agriculture sector, for long term, the farmers well
need  credit
(short term, long term, medium term, day-one credit)

v) The industries were reserved only for the public sector
before the deregulation of the industrial sector in 1991.
(11, 20, 17, 23)

vi) Deregulation of the industrial sector is the broad feature of New

industrial policy of

(1997, 1999, 1991, 1978)
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B)

Match the following : [5]
1)  Foreign Indirect investment a) New Industrial policy 1991
i1) Companies working in

various countries b) Sustainable Development
iii)) Abolition of MRTP act c) Cooperative Institutions
iv) Meeting the need of future

generation d) FII

v)  Source of agricultural credit e) MNC's

(Q2) Write a short notes (any 2 out of 4) : [10]
a) Role of SEZ in Economic development
b) Types of agricultural credit
c) Features of Rural economy
d) Shortcomings of New Industrial Policy 1991
03) a) Explain the broad features of New Industrial Policy - 1991. [8]
b) Explain the role of micro finance in rural credit. [7]
Q4) a) State the role of multmational corporations in economic development.
[8]
b) Explain‘the impact of New Industrial Policy on Indian Economy. [7]
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(11, 20, 17, 23)

Vi) e = T Siicurie SRS sftgeiies e fafres @ e
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(1997, 1999, 1991, 1978)
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